PR EARAER R ITERTEY

kg Y FHES

6 &  FT RE . A
-~ EBRMI(FRERIL K 364) ( D937 ~eaBRG TFe At
( HL "TF-RTAE kB w’é“'Jﬂ—-F.'rhg ke e .7~ F 548 .65 ¢ gk
Bk £ 6% £ 841 L 120 27 REFH
B o %&{3%2? » mEmr R E o S ar o ﬁ%ﬁ:ﬁé 3 ,Zwri ;ij?;ﬂkiﬁ? Qi
: ‘73J5**iéﬁzgﬁ4ﬁm FER AR ? @ a_b=325 @a>b
D357, @3+ @ a<b @a+b=876
34 4.3 ( )10.- * Iphone 8 f§ £_26000 = » % B 12 & 4
I35 D53 sez A i¥ 5 & 0 it Iphone e kB 5
( D24eB > Z Bl fgIL s P23 an? A9
@18000 =~ (©@20000 ~
= 322000 ~ @?24000 ~
’ ( )11 "@& A% 6500 e REE W H P H133%

6
(¥ =

D144 T = 2 A
192 T = 2o

A
@120 x = 2 4
@180 X = o &

2
( 3.F - B2 G AZaA REL256 24

%éfﬁiiﬂjikg\'8l?’-ﬁ“‘3f}ﬁj‘iﬁﬁ
F 50T 009

@32% = 2n @64 2n
@763—%;}/} @8.8 L > o &

( D4 FEFPPERAELE 3L 'E_ﬂgf'*l 15.56
L g3 e 181 A 4s0 % R T 23 A4

s ik o R 7

O#F Qi

" @ B miE R

& 4 éﬁi682\q,:ﬁ/w\§§4 72
FARREEEE S & D5 > 12 A4k

@65 o =

@48 o =

( e AZZTRIRLEW, FLugFE 2 22/
pEo A1 450 pF > T 235 pF s £ 2
TR FE S P /D
@2.25 >2/pF Q25 =2 /pF
@1.125 > 2 /pF @9 =~ 2 /pF

( H7E>#eBERE 42 f1gs 548
AIEMAR: Rk ?
D4z @81 Ol6 &

(  )86.25x1.2546.25x2.75= ?
D25 @225 321.375 ®19.125

@64

B 2R A BHTEOA? M
Pent i Gim?

D6500x(1+33%) @6500%x(1—33%)
36500+(1+33%) @6500+(1—33%)

()12 % FHergg ]2 5 2100 ~ 0 ¥ F g E] 2

450 iR 5 RS
@525 = @700 =~
@1500 = @2800 =

S R[JEEI> <A=:(FH1 AL £ 44)
.24 22 /pE[]50 & = /A

2.4 1.5 22 |§):# 80 2~ 2

3. fFiE 10.8 2 2 [ Jfyik 2.8 = ¢

4 FpiE 6 2 T[4 i 360 2 ¢

S FEF (FR2A X ULSKARRES FTHES
2 3
1.115x1.2—45+1.2
27

2. 81><(5 5+2)

26
91 —0. 6—|—391

518 6

4, 35x2—3 + 5



505 p =( )| B

6.5 - Bif£ 5 252 chl AR AT R S E A
28 - £ 750 14404 0 kA AR )i 2 )2

TE - W e A E 25% L B o Bl G A ke
( )R e

8. % — B4 A& F17,:h% £ £.62.8 24 4% .10 2 4
Rl crmff ~ 5 A YE A e

0, ] d:pFig 1355 2 > k frpFig 2355 2 o ok yapFEiE 2.5
28 AR IR TR 0 25 ] S A 4§ APEE
( )2 e

10 % - B E_200 = & > KA EF52 2% ik oo SRR
BAB BRELEC )AC Hf e

1L B HE— HE Sl s 2200~ F 314 24 i 2

A2 > l‘i——%%;}g—d" [ Limiale Az\m]?]'f:r > B LLEE‘?]F’]
g < 55 ( YA o

BT (ERERLL > £ 364)
11@’1@‘1{&,}*« ]{;,;:—%;\QQ(W% 11314“-‘-_§,)

C >

14

2.7 v e g - Bd A T 2300040 2w FIT G0 G

B speg end g ?

3R Flfrd ¢ ApEEX) 145 28 > 2 T yophig 20 o 2 Sy B
WP ES L ERL 1044 KFFSEDEY 2 F
Pl PERS ks Y

4 7 P F5E 300 A % B L A AR B HERAT Y
;%Fﬁ@ﬁ&%ﬁ-il %ﬁE%’P‘_»ﬁ % o 2} z ?

1 L2
5.- fidE F 8§;¥—”J ’jgg}_ﬂ S AT T IES S VALY

6.7 & AE A ALY

(& =

8

10

R IPNN

7. A 4LiT425 0 85000 F &~ 0 - Eenf| LA A £
3.5% > - EiiF BT AW 5 5 AT

- g _ - 7
8. % 3 frdndu -k 4p £ 7000 & o & g cheok Klde e g
48 48 EK G

R

Fie

R
N

= TR

o

-

A»W

AR

?ﬁv‘r

R R 0 340 fedtae ts iy 8 4
m},%z ,%‘ 5L =9




